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i I I et vl T -5 Bl v I il il ol Ml Rt temad vl
1 100kN/m&#E 2 % 1.00/0.00 ~ 2,03 131.37|3mz#823| - ~ - - | 100kN/mi%#8 %% 1.00| 10.58 ~ 18.04 131.37| 3m%&#E2 % -~ - - -
ZhLIst 1.00/2.03 ~ 9.81 100.00] Zhiist |0.00 ~ 981 243 13.02 ZhLIs 1.00] 500 ~ 1058 100.00[ Zhiis | 500 ~ 18.04| 2.43 13.02
) 100kN/m&#E 2 % 1.00/0.00 ~ 2.06 131.95(3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 10.53 ~ 1853 131.95( 3m&#82 % -~ - - -
ZhLIst 1.00]2.06 ~ 9.85 100.00] Zhiist |0.00 ~ 985 2.36 12.63 ZhLst 1.00] 500 ~ 1053 100.00[ Zhiis | 500 ~ 1853| 2.36 12.63
3 100kN/m&#E 2 % 1.00/0.00 ~ 207 132.03[3mz#82%| - ~ - - -| 100kN/mi%#8Z % 1.00| 10.63 ~ 18.27 132.03| 3m&tEz % -~ - - -
ZhLst 1.00]2.07 ~ 9.85 100.00] Zhiist |0.00 ~ 985 245 13.13 Zh LI 1.00] 500 ~ 10.63 100.00[ Zhius | 500 ~ 18.27| 2.45 1313
s 100kN/m&#E 2 % 1.00/000 ~ 273 143.09(3mz#82%| - ~ - - | 100kN/mi%#8Z % 1.00[ 11.16 ~ 2358 143.09( 3m&#E2 % -~ - - -
ZhLst 1.00] 2.73 ~ 10.52 100.00] Zhuust [0.00 ~ 1052 2.94 15.74 ZhLIst 1.00] 500 ~ 11.16 100.00[ Zhiis | 500 ~ 2358| 2.94 15.74
5 100kN/m&#E 2 % 1.00/000 ~ 227 135.35(3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00[ 11.18 ~ 20.27 135.35( 3m&#8x % -~ - - -
ZhLst 1.00| 2.27 ~ 10.06 100.00| Zhiust [0.00 ~ 10.06| 2.94 15.76 Zh LIt 1.00] 500 ~ 11.18 100.00[ Zhiust | 500 ~ 20.27| 2.94 15.76
6 100kN/m&#8 2 % 1.00/0.00 ~ 2.10 132.59|3m%#82 5% 0.00 ~ 004 3.03 16.20| 100kN/mi%#2%.% 1.00| 11.70 ~ 20.27 132.59| 3m#%#8% 5| 20.00 ~ 20.27 3.03 16.20
Zh Lt 1.00]2.10 ~ 9.89 100.00] Zhuust [0.04 ~ 989 3.00 16.05 Zh LIt 1.00] 500 ~ 11.70 100.00[ Zhius | 500 ~ 20.00| 3.00 16.05
. 100kN/m%&#E 2 % 1.00/0.00 ~ 047 106.95|3mz#8x%| - ~ - - | 100kN/mi%#8Z % 1.00| 12.63 ~ 14.78 106.95( 3m&#82 % -~ - - -
Zh Lt 1.00]047 ~ 825 100.00] Zhiist |0.00 ~ 825 1.93 10.35 Zh L 1.00] 500 ~ 1263 100.00[ Zhius | 500 ~ 14.78] 1.93 10.35
o 100kN/m%&#EZ % 1.00/0.00 ~ 1.69 125.88[3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 12.61 ~ 26.60 125.88( 3m&#Ez % -~ - - -
ZhLs 1.00/1.69 ~ 947 100.00] Zhuust [0.00 ~ 9.47[ 2.70 14.43 Zh LIt 1.00] 500 ~ 1261 100.00[ Zhius | 500 ~ 26.60| 2.70 14.43
o 100kN/m&#E 2 % 1.00/0.00 ~ 151 122.99(3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 12.62 ~ 2351 122.99( 3m%&#E2 % -~ - - -
ZhLIst 1.00/1.51 ~ 9.29 100.00] huist |0.00 ~ 929 2.39 12.82 Zh Lt 1.00] 500 ~ 1262 100.00[ Zhius | 500 ~ 2351| 2.39 12.82
0 100kN/m&#E 2 % 1.00/000 ~ 1.26 119.00(3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 12.58 ~ 20.30 119.00( 3m%&#82 % -~ - - -
ZhLs 1.00/1.26 ~ 9.04 100.00| Zhuust [0.00 ~ 9.04| 2.40 12.83 Zh Lt 1.00] 500 ~ 1258 100.00[ Zhius | 500 ~ 20.30| 2.40 12.83
» 100kN/m&#E 2 % 1.00/0.00 ~ 1.66 125.39(3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 11.48 ~ 20.00 125.39| 3m&#82 % -~ - - -
Zh L 1.00/1.66 ~ 9.44 100.00] Zhiist |0.00 ~ 944 248 13.26 Zh Lt 1.00] 500 ~ 11.48 100.00[ Zhius | 500 ~ 20.00| 2.48 13.26
i 100kN/m&#E 2 % 1.00/000 ~ 1.24 118.71|3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00[ 11.46 ~ 16.87 118.71| 3m%#82.% -~ - - -
ZhLIs 1.00]1.24 ~ 9.02 100.00] Zhiust [0.00 ~ 902 2.17 11.64 Zh LIt 1.00] 500 ~ 11.46 100.00[ #hlus | 500 ~ 16.87| 2.17 11.64
14 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
ZhLst -l -~ - -| #hLst -~ - - - Zhust - -~ - -| #hList -~ - - -
5 100kN/m&#E 2 % 1.00/0.00 ~ 2.70 142.63[3mz#82%| - ~ - - | 100kN/mi%#8 %% 1.00| 10.70 ~ 25.99 142.63|3m&#E2 % -~ - - -
ZhLst 1.00] 2.70 ~ 10.49 100.00] ZhList |0.00 ~ 1049 2.93 15.68 ZhLst 1.00] 500 ~ 10.70 100.00[ Zhius | 500 ~ 2599| 2.93 15.68
- 100kN/m&#E 2 % 1.00/0.00 ~ 2.80 144.31|3mz#82%| - ~ - - | 100kN/mi%#8% % 1.00| 10.56 ~ 25.08 144.31|3m&#82 % -~ - - -
ZhLst 1.00| 2.80 ~ 10.59 100.00| #hius [0.00 ~ 10.59| 3.00 16.05 ZhLst 1.00] 500 ~ 1056 100.00] #hiust | 5.00 ~ 2508 3.00 16.05
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17 100kN/m##8% % 1.00{0.00 ~ 252 139.60| 3m%x#B2 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.67 ~ 23.44 139.60| 3m%x#B 25 =l ~ - - =
s 1.00] 2.52 ~ 10.31 100.00f Z=hkl4t | 0.00 ~ 10.31] 2.61 13.98 s 1.00f 5.00 ~ 10.67 100.00f Zhist | 5.00 ~ 23.44| 2.61 13.98
18 100kN/m##8 %% 1.00{ 0.00 ~ 243 138.08| 3m%*x#B2x 5% ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.56 ~ 21.44 138.08| 3m%x#B =25 =l ~ - - =
s 1.00] 243 ~ 10.22 100.00f Z=hki4t | 0.00 ~ 10.22| 2.66 14.25 s 1.00f 5.00 ~ 10.56 100.00f Zhl4t | 5.00 ~ 21.44| 2.66 14.25
19 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 5.29 65.96) =Ll |0.00 ~ 529| 1.60 8.57 s 1.00f 500 ~ 6.00 65.96) ZhLl4t | 500 ~ 6.00f 1.60 8.57
20 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 745 95.17| ZhLlst | 0.00 ~ 7.45| 2.06 11.03 s 1.00f 5.00 ~ 10.00 95.17| #=hl4+ | 5.00 ~ 10.00f 2.06 11.03
91 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 544 67.90| ZhLlst |0.00 ~ 544| 1.67 8.95 s 1.00f 500 ~ 6.00 67.90[ =h L4t | 5.00 ~ 6.00f 1.67 8.95
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




